3 (Sem—4/CBCS) ECO SE

2022

ECONOMICS

Paper : ECO-SE-4014

( Data Analysis )
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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer any four of the following questions :
1 K4=4
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(a) Define rank correlation.
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(b) Find geometric mean of 8 and 2.
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(¢) Define median.
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What is skewness?
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(3)

(c) Mention two disadvantages of

arithmetic mean.

TSR R 1 SR BT

(d) Mention two measures of dispersion.

AR o1 W e !

(e) What dor=0and r=1 mean?

=0 r =1 & W2

) Distinguish between an estimate and an
estimator.
R S e W snefa Pl 0L

3. Answer any two of the following questions :

oo R TG Bt 2 T faan
median from the following data :
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(@) Find
e SUF 7R Wl e :
Marks No. of Students
(7) (Ta-Ta TA)
10 8

20 15

30 22

40 20

50 10

60 5
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(€ Find p
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(p) Find arithmetic mean :
e Wy Oferedt
X f
0-10 5

10-20 10

20-30 25

30-40 30

40 - 50 20

50 - 60 10

() Find mode from the following data :
o SU ] T TS :
Size of Garment No. of Persons Wearing
Gasatsn) e TRIT)

28 10
i 29 20
| 30 40
' 31 65
32 50
33 15

(d) Calculate standard deviation from the
| following data :

; o S 1 W oo TSt -
Profits (¥ Lakh) No. of Companies
TS (14 B3TS) (GFT=*A 7R)
0-10 12
10 -20 17
20-30 23
30-40 : 39
40-50 16
50 - 60 03
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(e) Caleuate Kar] earson Coefficient of
skewness :
W%% BT Bforey
X f
12.5 28
175 42
225 54
275 108
325 129
375 61
425 45
475 33
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(g) Fing Pearson’s correlation Coefficient
from the follow; g datg an Interpret
the Tesujt .
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